MK

IRAR A & A& H | ZVHE|EEHE &5 &
HE —OA#E |HPPE(EFZAMHAZEE) L=500m ¢ 100 x 68 340.0m# 5% (5%0m)
BokKEHMZ T |HPPE(EE) L=5.00m $ 100 y:N 2 8.3m#E%(5%1.7m)
iR IFLUE ¢ 100 m 75 7.5m#A % (6.5+0.5+0.5)
PED3A b ¢ 100 & 2
AHEHEGRVER) ¢ 100 x 90° 1@ 2
EFRUK (M52) ¢ 100 x 45° & 2
EFRUR (15) (Himaat IFL &) ¢ 100 x 90° & 2
AhE (EREER) ¢ 100 & 1 MEHE
BRI —bk W=150S m 3483 340.0+8.3
ER[ARET |[NMEZEIF QYD) 25 & 1
ERFAYRILAVEGERIER) $100% ¢ 25 & 1
BEEXHEE #H 3 SEEE 18ke
hiE SRR HPPE(EFZ AT FZEE) L=5.00m 75 ¥ 33 165.0m 7 5% (7%0m)
BokKEHMZ T |HPPE(EE) L=5.00m ®75 X 4 18.7m#E%(5%1.3m)
EFRUK (M52) ¢ 75 % 45° & 2
PEZaA b @75 & 2
AHEHEGRVER) ¢ 75 % 45° 1@ 5
ERERANYHEPXHE) ¢ 75%45° & 1
BRI —bk W=150S m 183.7 165.0+18.7




FIHE

RARB E2E g B Z9%E | £EHE 5 &
TE O

BEKEMEZELT |RUTFLUEREKTL 100 m 355.8
AN=HIBFITGRIYER) 100 A 8
RUTFLUOERFIT (REES) | 0100 10#F | O 68
RUTFLUERFT (REES) $100 20#F | &FT 4
RUZFLUELRT ¢ 100 | 6 4+2
AN=AIBFIGEEERH) ¢$ 100 m| 1
EHRI—k m 3483
WKEER T HRKERE B 0.17 348.3m/2,0000=0.17H

ERAREL [ZRAHRET ® 25 £ 1
YRR KRFREI RUER) ®100x @25 1& 1
MERLCAAT ®25 | 1
REXHEERET #H 3 SEEE 18ke

TiE BSHRER

BEKEMEZELT |RUTFLUEREKTL 75 m 183.7 165.0+18.7
RUTFLUERFT (REES) $75 1AMF [ A 33
RUTFLUERFT (RIEES) ¢75 208F | &FT 2
RUZFLUELRT b75 | 7
ANZAILBFIGRIER) 75 | 15
AN=AIBFIGEEERH) b75 m| 1
EHRI—k m 183.7
WKEER T HRKERE B 0.09 183.7m/2,000H=0.09H




T T #% E X
£ L OB # H 3 = HEtHE
HE O
BKEMIRLT |HWRKRET H=800 BrE @ 060 m X 0985 m X 3483 m = 205.85 m3 210
HigERLT HEFyS #rE@ 060 m X 0325 m x 3483 m = 67.92 m3 70
HMIERLT 45+ #rE@ 060 m X 0490 m X 3483 m = 102.40 m3 100
BRIAMET = 92.07 m3 90
TERET t=10cm RC-30 060 m X 3483 m = 208.98 m?2 209
FERET t=8cm M-30 060 m X 3483 m = 208.98 m?2 209
RAsEHZET t=3cm FR A 060 m X 3483 m = 208.98 m?2 209
AEBEIBASTHET (AAMI] t=4cm Fag i 080 m x 3483 m = 278.64 m?2 279
AsElZE IR UIER T t=4cm 3483 m X 4 % = 139320 m 1390
AsEREE R AERE T t=4cm 080 m X 3483 m = 278.64 m?2 279
R AsEH MR T t=3cm 060 m X 3483 m = 208.98 m?2 209
AsERETLER -0 T = 1742 m3 17
TiE SRNER
BKEMBRL MrED 060 m 0840 m x 164.1 m 8271 ma3
PR T H=800 ¥ E 060 m X 1140 m X 127 m = 8.69 m3
MEQ 060 m 1340 m X 69 m = 555 m3
=X = 96.94 100
bR T ST HEQ 060 m 0240 m X 127 m = 183 m3
¥ EQ 060 m X 0290 m X 69 m = 120 m3
=1 = 3.03 3
wrE® 060 m X 0840 m X 1641 m = 8271 m3
BERLT FEL BrE@ 060 m 0900 m x 127 m = 6.86 m3
¥ EQ 060 m X 0850 m X 69 m = 352 m3
=1 = 93.08 90
TERET t=10cm RC-30 060 m X 69 m = 414 m?2 4
FERET t=12cm M-30 060 m X 69 m = 414 m2 4
RAsEHZET t=3cm FR A 060 m X 6.9 m = 414 m?2 4
AEBEIBASTHET (AAMI] t=5cm gl 080 m x 69 m = 552 m2 6
AsSHERRYIET T t=5cm 69 m X 4 & = 2760 m 28
AsEREE IR AR T t=5cm 080 m x 69 m = 552 m2 6
R A& MR T t=3cm 060 m X 69 m = 414 m2 4
AsERERER- 00D T = 040 m3 0.4




6100 HPPE @ Kk &

b B &K B T O
UEE (m) DIxNF
5 OB W B R |0 ERE - | AR o W=
B
-1 Z.-1 Z.-2 z.-3 Z—4 O-® (m)
HPPE 100 5. 000 3. 000 2. 000 5. 000 1 1
(=g
HPPE
o
%
z-1 z-2 z.-3 Z.—1 Z.-5 = 100
HPPE 100 5. 000 4. 600 4. 600 0. 400 1
HPPE 100 5. 000 3. 200 0. 500 3.700 1. 300 2 HahE| 5.000
5 15. 000 10. 800 2. 500 13. 300 1. 700 4
15. 000 10. 800 2. 500 13. 300 1. 700 4




75 HPPE Bl K & B &R Bowd TN B PER
UEE (m) DIxNF
& (m) GIwr T
=] Poris Vo P
& E M 'O ERE 2 g . i &
5]
-1 Z.-1 Z.-2 z.-3 Z—4 (OO (m)
HPPE 75 5. 000 4. 000 0. 500 0. 500 5. 000 2 1
(=g
HPPE
0 g oE
5
z-1 z-2 z.-3 4 Z-5 = 75
HPPE 75 5. 000 5. 000 5. 000
HPPE 75 5. 000 4. 300 0. 700 5. 000 1 HahE| 5.000
HPPE 75 5. 000 3. 800 0. 800 4. 600 0. 400 2
HPPE 75 5. 000 2. 400 1. 700 4.100 0. 900 2
5 25. 000 19. 500 3. 700 0. 500 23. 700 1. 300 7
25. 000 19. 500 3. 700 0. 500 23.700 1. 300 7




